ERE23EE

b =2 ZiAAE EiIE KL |mancmisens e
A4 A mE A (BEZEQ)
48 68 8H 108 128 28
ERERH 2011/4/26 | 2011/6/8 || 2011/8/3 § 2011/10/27 2011/12/7 | 2012/2/2
FREREFZI 12:00 11:30 11:15 12:15 12:10 11:50
XIE B g B B B ERF4LE
SR (°C) 21.0 22.0 30.0 21.0 17.0 6.0
Kig (°C) 18.4 18.7 248 195 17.3 125
2IKFE (m) 05 0.95 0.70 1.70 1.65 1.30
pirb BE BE BE BE BE BE
=i &= &=a &=a &=a &=a EH
=5 R R EE EE EE R
— — — — —
4 |eH 7.3 7.1 7.1 7.2 7.3 8.0
= DO (mg/1) 10 9.2 8.4 8.5 10 9.2
1’ |soD (mg/1) 0.6 0.9 0.6 <05 1.2 1.3
# |Iss (mg/1) <1 2 2 <1 <1 <1
B |xmEEk (MPN/100mD  1.5E+02 2.4E+03 2.4E+03 9.3E+01 9.3E+02 2.3E+01
B 4 0 £y (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HREY L (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
£ITY (mg/1) <01 <01 - <01 <01 -
£ (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 -
Nfiv B L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
itk (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
FaskER (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
T ILEILIKER (mg/1) - - - - - -
PCB (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
-3 BYTT=P T (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
mig{bixE (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
1,2-Y'90014y (mg/1) < 0.0004 < 0.0004 - < 0.0004 < 0.0004 -
g |L1-v9RoIFLy (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
YA-12-900IFLY  (mg/1) < 0.004 < 0.004 - < 0.004 < 0.004 -
1,1,1-p)y0014y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
1,1,2-h)y0014Y (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
B Iyjynnrsry (mg/1) < 0.003 <0003 - <0003 <0003 -
7h7900IFLY (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
1,3-9007°0A°Y (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
B |F734 (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
IVY (mg/1) < 0.0003 < 0.0003 - < 0.0003 < 0.0003 -
FANVANT (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
_oEy (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
v (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
B ERRUEMSEER (ng/l) 0.21 0.22 - 0.24 0.24 -
0% (mg/1) 0.2 0.2 - 0.3 0.3 -
1IF5% (mg/1) <01 0.2 - 0.4 <01 -
LA TAxgy (me/1) < 0.005 < 0.005 — < 0.005 < 0.005 —
-3V E (mg/1) - - - - - -
£EF (mg/1) 0.26 0.29 0.32 0.28 0.25 0.20
e (mg/1) 0.011 0.012 0.012 0.008 0.011 0.012
Fifl (mg/1) < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
DR (mg/1) - - - - - -
SRV (mg/1) - - - - - -
i=FN (mg/1) - - - - - -
Pd=1=E 1N (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
HRILLTILTER (mg/1) < 0.008 < 0.008 - < 0.008 < 0.008 -
Z Ioz/—1L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
@ EPN (mg/1) - - - - - -
B Bt gy (mg/1) 74 800 - 1500 230 -
g |cop (mg/1) <05 0.6 0.5 <05 <05 0.6
FUE=THER (mg/1) - - - - - -
HEMESR (mg/1) 0.21 0.22 - 0.24 0.24 -
BEREER (mg/1) <0.01 <0.01 - <0.01 < 0.01 -
YUY (mg/1) 0.01 <0.01 0.01 <0.01 0.01 0.01
AE () - - - - - -
RUNOAS A REE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
DARIY (mg/1) - - - - - -
E :—ﬁfif% (uS/cm) 360 3100 4800 5800 1000 31000
]
—




ERE23EE

A2 &8 Bl K2
e IES A mR
48 68 8H 108 128 28
ERERH 2011/4/26 | 2011/6/8 || 2011/8/3 § 2011/10/27 2011/12/7 | 2012/2/2
FREREFZI 11:45 11:40 11:00 12:05 12:00 11:40
XIE B g B B B ERF4LE
SR (°C) 21.0 22.0 30.0 21.0 17.0 6.0
Kig (°C) 20.0 222 277 24.0 13.7 13.0
2KE (m) 0.8 1.20 0.95 0.90 1.00 1.20
pirb BE BE BE BE FiEMEL BE
=R &=a &=a &=a &=a &=a EH
5 R EE R R R R
— — — — —
4 |eH 8.1 8.0 8.1 8.0 8.1 8.1
= DO (mg/1) 77 75 7.3 7.0 8.7 8.7
B’ |soD (mg/1) 0.9 1.1 1.1 <05 0.7 1.0
# |Iss (mg/1) 1 2 2 3 3 1
B |xmEEx (MPN/100mD  2.3E+01 4.3E+02 4.3E+02 9.0E+00 4.3E+01 0.0E+00
B 4 0 £y (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HREY L (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
£ITY (mg/1) <01 <01 - <01 <01 -
£ (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 -
Nfiv B L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
it (mg/1) 0.001 0.001 - 0.001 0.002 -
FaskER (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
T ILEILIKER (mg/1) - - - - - -
PCB (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
-8 BYT=T=P T (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
mig{bixE (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
1,2-Y'90014y (mg/1) < 0.0004 < 0.0004 - < 0.0004 < 0.0004 -
g [LI-v9RoIFLy (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
YA-12-900IFLY  (mg/1) < 0.004 < 0.004 - < 0.004 < 0.004 -
1,1,1-p)y0014y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
1,1,2-h)y0014Y (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
B Iy jynarsry (mg/1) < 0.003 <0003 - <0003 <0003 -
7h7900IFLY (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
1,3-9007°0A°Y (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
B |F734 (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
IVY (mg/1) < 0.0003 < 0.0003 - < 0.0003 < 0.0003 -
FANVANT (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
_oEy (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
v (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
B ERRUEMSEER (ng/l) 0.06 0.11 - 0.04 0.08 -
0% (mg/1) 1.1 1.2 - 1.2 1.1 -
1F5% (mg/1) 3.2 23 - 3.1 29 -
LA TAxgy (me/1) < 0.005 < 0.005 — < 0.005 < 0.005 —
-3V E (mg/1) - - - - - -
£EF (mg/1) 0.21 0.28 0.22 0.22 0.20 0.18
e (mg/1) 0.016 0.021 0.019 0.022 0.019 0.016
Fifl (mg/1) < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
DR (mg/1) - - - - - -
SRV (mg/1) - - - - - -
i=FN (mg/1) - - - - - -
Pd=1=E 1N (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
HRILLTILTER (mg/1) < 0.008 < 0.008 - < 0.008 < 0.008 -
Z Ioz/—1 (mg/1) <0.02 <0.02 - <0.02 <0.02 -
@ EPN (mg/1) - - - - - -
B Bt gy (mg/1) 14000 9300 - 13000 13000 -
g |cop (mg/1) 1.0 13 0.5 14 1.0 0.8
FUE=THER (mg/1) - - - - - -
EEEER (mg/1) 0.06 0.11 - 0.04 0.08 -
BEREER (mg/1) <0.01 <0.01 - <0.01 < 0.01 -
YUY Y (mg/1) - - - - - -
AE () - - - - - -
R)ANBAZUERREE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
CARIV (mg/1) - - - - - -
E :—ﬁfif% (uS/cm) 40000 29000 33000 40000 36000 52000
]
—




